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Ex 7

June 6, 2023

import numpy as np
import matplotlib.pyplot as plt

ct
[

X =

y

plt
plt

np.linspace(0, 6*np.pi, 1000)

- np.sin(t) + t
- np.cos(t) + 1

.figure(figsize=(10,6))
.plot(x, y, label=r'$x=-1\,\mathrm{m}\cdot \sin(t\cdot 1\,\mathrm{Hz}) + t,

s\cdot 1\,\mathrm{\frac{m}{s}}$, $y=-1\,\mathrm{m}\cdot \cos(t\cdot,
-1\, \mathrm{Hz})$"')

plt

.title(r"Aufgabe 4: Skizze mit $m_\mathrm{e} = 1\,\mathrm{Kg}$, $B =,

o1~\mathrm{T}$, $E = 1\,\mathrm{\frac{V}{m}}$ und $g9=1\,\mathrm{C}$")

plt
plt
plt
plt
plt

.xlabel('x in m")

.ylabel('y in m')
.legend(loc="lower right")
.grid(True)

.show()



Aufgabe 4: Skizze mitm.=1Kg, B=1T,E=1, undg=1C

200 1

175

150 4

125 4

100 |

¥ inm

075 4

050 4

025 4

000 4 — X=-—1m-sin{t-1Hz)+t- 1T, y= —1m-cos(t- 1Hz)

0.0 25 50 75 100 125 150 175
®inm



